Name: Class:
Subtraction Match-ups

Match the answer with the question.

1. la. 16+ 11 = . eA=6
b. 7-1 = ° o| =12
c. 18+11 = . eD =29
d 11+17 = o eB =28
e. 16-9 = . eG=7
f. 7+6 = o oJ =
g 9-4-= U eE =6
h. 9-3 = J eC =13
i. 20-7 = o o F =27
jo 3+9 = J eH =13

2. la. 747 = . ol = 25
b. 1+19 = o oJ =
c. 13+18 = J eD =10
d 19-16 = J o H = 21
e. 7-1-= . eB =14
f. 10+15 = J eG =6
g 1+6 = J oF = 31
h. 14-4 = o eA=20
i. 3+18 = J eC=3
j. 15+1 = . oE =16
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Name: Class:

Subtraction Match-ups

Match the answer with the question.

1. ]a. 16 +11 = F A =
b. 7-1 = E | = 12
c. 18+ 11 = Dx //:D=29
d. 11+17 = Be \ B =28
e. 16-9 = Ge X oG =7
f. 7+6 = H J=5
g. 9-4 = J E=6
h. 9-3 = A C =13
i. 20-7 = C F=27
j. 3+9 = | H=13

2. la. 7+7 = B | =25
b. 1+19 = A J=7
c. 13+18 = F D =10
d. 19-16 = c ' H = 21
e. 7-1= G AV’\‘{' B = 14
f. 10+15 = | " G=6
g. 1+6 = J F =31
h. 14-4 = D A =20
i. 3+18 = H c=3
j. 15+1 = Ee sE =16
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